



Имя: _____

Дата: _____ Оценка: _____

$$(3 - \frac{1}{2}) \times 5,9 =$$

$$(2 - \frac{1}{3}) \times \frac{1}{6} =$$

$$4(\frac{2}{5} - 2,2) =$$

$$(4 + 4,6) \times 4,1 =$$

$$4(\frac{1}{5} - \frac{1}{2}) =$$

$$(5 + \frac{2}{5}) \times 2,9 =$$

$$(5 + \frac{1}{3}) \times 3,5 =$$

$$(5 + 4) \times 5 =$$

$$(5 + \frac{3}{2}) \times 5 =$$

$$4(3,8 - 2,7) =$$



Имя: _____

Дата: _____ Оценка: _____

$$(3 - \frac{1}{2}) \times 5,9 = \frac{59}{4}$$

$$(2 - \frac{1}{3}) \times \frac{1}{6} = \frac{5}{18}$$

$$4(\frac{2}{5} - 2,2) = (-\frac{36}{5})$$

$$(4 + 4,6) \times 4,1 = \frac{1763}{50}$$

$$4(\frac{1}{5} - \frac{1}{2}) = (-\frac{6}{5})$$

$$(5 + \frac{2}{5}) \times 2,9 = \frac{783}{50}$$

$$(5 + \frac{1}{3}) \times 3,5 = \frac{56}{3}$$

$$(5 + 4) \times 5 = 45$$

$$(5 + \frac{3}{2}) \times 5 = \frac{65}{2}$$

$$4(3,8 - 2,7) = \frac{22}{5}$$